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% Define time period mud frequency:, -f_.{-?;Jf:E)M,‘gﬁffE (i)

;‘L Define Hook™s Law and write its formuln. ..-"_'.ém-'di.-nig,{ggg;.?b’.{ (i)
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What is the effect on pitch of sound by changing the frequeney o ibrating body?
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b What de you understand by the term word processingy? Yo !'.fy'c-bi‘i"é’-&r.-.;sn (x)
What is difference between RAN and ROM? YOI RS . (i)
Define isotopes of an element. Loy PLR A srhr viD)
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With the help of diagrdm define center of curvature of spherical mirvor,
How can we see the printedwords on a page? S it e 04 G
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How cangve findithe direction of magnetic field by using right hand rule?
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What fire benetits of smant 11 card?? CaOMELRID e (Vi)
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What is meant by Boolean Algebra? How we represent Boolean variables?
Define AND operation and write its formula, ..:'."'1'9'.3#&"‘.-';..';’:_!'}‘&;/‘-.;7 AND(viii)
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Deseribe the factors on which resistance of a wire depends upon.
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A capacitor holds 0.03 coulombs of charge when fully charged by a 6 volt battery.
How much voltage would be required for it to hold 2 coulombs of charge?
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